N =

O & AP & & A

A

M AXEAA
g WHE
@2 MEX CEREE
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Z S0l &HH Hlw &2
AR A} 16,632,859 11,285,539 5,347,320
= 61,000
pJ 129,876
< 30,500
Al 16,411,483
H=sds 10,015,877 10,992,984 A977,107
= 61,000
) 129,876
< 30,500
Al 9,794,501
EEPNE 2,687,572 3,955,835 A 1,268,263
= 61,000
) 129,876
< 30,500
Al 2,466,196
HEIEXHA 17,456 20,510 A3,054
201 LEH2HH| 8,060 7,816 244
01 AtR2teld] 7,100 6,952 148
Og g2t 5,000
—SH.otH EXNEEE |X 222 ME
2,000& *2,000= 4,000
—SH.otH EXEd d=KEE AUES
- 500,000 *23] 1,000
ogxtg 2,100
—24E HIMSUIXNY =SS
500,000 *33] 1,500
—g7E MR NG EA IHENE
150, 000& *43] 600
02 3323l 960 864 96
O332= ¥ HA 960
—BIYOICoIZB A AHOIER ZHEY M
£ 80,000& 122 960
202 O 9,39 12,694 13,298
01 2o 9,396 12,694 13,298
OAZ HIAUI(HHL MEHS AHMSS) &
JHod I 261,000 »2H «83| 4,176
Od=H&, EeHHE, ZUHAZUHE, =01
M= S0 261,000 »2H *43| 2,088
OthIIE, S4E =HUs XJ FA0]
261,000% »2%H «33| 1,566
Os - otH &dXled RIS ol
261,000 x2H «33| 1,566
eIV PR 952,976 1,253,572 A 300,596
201 LEH2 | 5,396 6,961 A 1,565
01 AtR2teld] 3,896 5,377 A 1,481




SH: ATEAD
Ha: HSTE
ol MK (ersl:@g
SN B SRA(SIH) - MBAY - BAS 0l &k 24 £/ 25 0f o o HlnE2
SETIESTI 3,896
~HSXY BE PEE AR
50021 %2, 0000 1,000
—AEMSXY ASREY 100,000 %63 600
—AZHEXY ZREH EH L SARX P
o 237 0002 *2CH x43] 1,896
—AEME Y ZARK P
20,0008 %208t A 400
03 BAI2Y] 1,500 1,584 AB4
O2M . H2IAR ZQ#A 222 XM
50,0008 %37 £ *103] 1,500
301 YsrEAS 4,680 4,611 69
10 SAFAIHIE A 4,680 4,611 69
O2F.H2SHel HAIAHIZAD 3,000
~%.Z.0 AKX SR BAX AL
50,0008 * 102 x23| 1,000
—HSEH AL (Zoe, MBS, AHSE
) 20,0008 %5024 x23| 2,000
OAZ FMSHA 2 I NAZAK S|
7,008 *402 +63] 1,680
307 2120/ & 942,900 1,242,000 A299, 100
02 QIAHABE 942,900 1,242,000 299,100
OMEHS3 311,000
~CQ MESHE SHY
70,000,000 %141 70,000
S0 MEISHE AFA EHY
4,000,0002 14! 4,000
—MEHS Z22 S5203 HA
25,000,000 %141 25,000
—RAd BREIUE SHY
2,000, 0002 14! 2,000
Y AW MEBISUE EIINAL
3,000,0002 14! 3,000
— M5 STAIR)| SSMEAIUS N
b 60,000,000 %141 60,000
~% 54 MCA & MEYSS
12,000,00024 *14! 2,000
~HEYW NEY THE SHY)
2,000,0002 14! 2,000
~LOHOIES tHEl SHHI
5,000, 0002 14! 5,000
—S0E HOIES T8 1,500,0008 %14 1,500
—SEME BAZTOSE 1,000,008 *14] 1,000
—S0lEt0l B Y B 2HA
8,000,0002 14! 8,000




SN AEXAAT
HE: HSUE
el MS K2
SN B SRA(SIH) - MBAY - BAS 0l &k 24 £ 25 0f ot o
—STAR) WAAEE H2(3
8,000,00021 *14} 8,000
—H2 02M MEUSHE HLHH EHY)
10,000,000 14! 10,000
—H8sl STAI M2MIABLH3
13,000,000 14! 13,000
—MEIE 22N dLAYS
3,000, 0002 *14] 3,000
— M358 MEALE OHAIR HOIESHS
12,000, 0002 14! 12,000
MBS 522 MA0HE EFY)
9,000, 0002 *14} 9,000
—STAFI| H2s R HIMBHSE
8 272043 10,000,000 14! 10,000
~HAL T XA Thal BRG]
8,000, 0002 *14] 8,000
MBS 52 2048 AL
15,000, 0002 *14! 15,000
—HUOIEE R METS HEE 5K
SIE 15,000,000 * 14! 15,000
—FHY NER SHAIR L0l 2E03
4,500,0002 *14} 4,500
—2OMEIS M EF IR I
3,000, 0002 *14} 3,000
~ ML CARBIEI 203
7,000,00021 *14} 7,000
OAHS3| 548,400
—H508 MLHTOIME STA H4C EHY)
7,750,0002 x200H 5 = 155,000
—H508 MHTOME EHE AT Y2
2 650,000 *20H & 2 13,000
—Hos MIAE EELL A
0,00024 2002 4,000
—H403 MRAUHE BEFdL 2
20,0002 1202 2,400
— M3l MRHA NS =2 (X 53]
Hida3) 1,000,0002 x2 7 & 2,000
—F2LrtOl BOIY SEHHE
8,000, 0002 *14] 8,000
— =W OIZHEME EHEI(E2 52Al)
7,000,00024 *14} 7,000
—2011 SESAEHAI|H3]
60,000, 0002 *14! 60,000
—SHNSBLLIBY M2SAMAZH
80,000, 0002 * 14! 80,000
~H2 HAKTHEA O3
25,000, 0002 *14! 25,000
—SHUSBRLIBI| @RHUSDSAD A
S0l 35,000, 0002 *14! 35,000
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SH: ATEAD
Ha: HSTE
ol MK (ersl:@g
SN EB -GS - MBAY - BES 0 & 24 2| 25 04] & o HRE2
—STARI| @2 24 ZNER =5 =7
e 27,000,000 %14} 27,000
— 63 HZAIQ OI0IE0 =AS
25,000,000 %141 25,000
—H93l BEAIFI| RERY =.550 57
e 30,000,0002 * 14! 30,000
—NFII S 2E0E
70,000,000 %141 70,000
—FIIGH MRS BN
5,000, 0002 14! 5,000
O 042 H S 3] 83,500
—H193] FRLE HOJOXKHS SHbI
27,000,000 %14} 27,000
—H135 MRZO HOIES HLAME =
| 2,000,0002 *14! 2,000
—H203l N2 2HEHO Ot2HE0HE SHY)
2,500, 0002 14! 2,500
—H43 SEAIFI| 04O MEBHSHE
25,000,000 %141 25,000
—E2Y MIWONY MHUSUE SHY)
10,000,0002 *14] 10,000
—H105] MLS0OIMSHE SX
2,000,0002 14! 2,000
—ZOjQ MSHI NUSHY MRS S
b 15,000, 00024 *14! 15,000
X 5 £ 3 X 21 121,000 138,000 A17,000
307 2120/ & 121,000 138,000 A17,000
02 UAAMBE 121,000 138,000 A17,000
OMERS S50 o 4
10,000, 00024 *14! 10,000
OSTAMSS 294 £ 12,000,008 *14] 12,000
OSTAMHISS 28 2%
30,000,000 %141 30,000
OSHAEXEY S| 10,0002 %3, 000 30,000
OstAENEY S| 10,0002 +700&4 7,000
OISl LI U HAIHI(Al - ME - FoHQl
EE 7,000,0002 14! 7,000
OROHQIH S 2| EZF 25,000,008 *14] 25,000
LML 260,300 1,087,600 ATT7,300
307 2120/ & 110,300 137,600 A27,300
02 QIAHABE 110,300 137,600 ~27,300
OSQIMEISUHE ANNELS Sl
8,000,0002 14! 8,000
ORIB03l HYTOHE Laidd S (200
=2, 1109) 50,000,000 %14} 50,000




SN ARRAT
=L R TEYE
ol MSKE (el a2
SN FHH S (3H) - HREAY - BES Ofl &F o4 2| Z 04l ar o Hms2
OR508l MHCUMA SHE 202 sa (2
OHES) 1,350, 0002 * 187} 24,300
ORs05| MLETOIRA 52 SLs DA
1,500,000 1094 st 1 15,000
ONUE 2442 U NEX X2
5,000,000 *14] 5,000
OR198] MLTHOHQAMA I Aty
5,000, 0002 =14 5,000
OR193] HLHTHMAMA AAME K&
3,000, 00024 *14] 3,000
308 MHXIHHMSOIA 150,000 900,000 AT750,000
06 WI|I2UUSEEXZ 150,000 900,000 A'750,000
OZU £.5.0 180 152 SAX
6,250,0002 *247H 1 150,000
MENSSY 188,352 250,753 A62,401
| 94,176
Al 94,176
307 gI12told 188,352 250,753 262,401
| 94,176
Al 94,176
02 ItAASE X 188,352 250,753 A62,401
OMEXS XX HhX(62)
1,744,000 6 F x 123 125,568
| 62,784
Al 62,784
OLoidg MEMS NEK I (3%)
1,744,000& *3H 123 62,784
| 31,392
Al 31,392
ez o 5 124,088 717,000 A592,912
201 Lt 17,000 0 17,000
03 dArZEHI 17,000 0 17,000
02011 OLAIOIELE I M 4RATHE #AIS | 17,000
—292 SX(E4Y, WU, 228 S)
10,000,000 = 14! 10,000
—SEQAMLY 2 7,000,000& * 14 7,000
202 048] 2,088 0 2,088
01 =LA b 2,088 0 2,088
OOAIOHEEDITNE 2 M08 S 2 28
2= 0l 261,000& x2H x4 3| 2,088
307 Q20| 105,000 717,000 A612,000
02 BI2tAAEX 105,000 717,000 A612,000
02011& OtAlOtEE oI +=AU 3
75,000, 0003 14 75,000




SN

I‘I iH:

C}—Ol:

|>

0 Ko K

'
20 20

AN
e
S

10 0o 2

M- B2 SR(3H) - MRAY - BaS Arel £ 2 0f &t o HRE2
OHNI5al SEZAEH &= =ME8d=2HE
30,000, 0003 14 30,000
SWHSAE EL3HA 750,000 200,000 550,000
308 XXIEHHSOIA 750,000 200,000 550,000
06 WEI|20UeEES 750,000 200,000 550,000
OZUH=sstn g OsSEMs2 A=(2H
) 250,000,000 271 £ 500,000
Ogtn &L2s (SX321)
250,000,000 * 10 2 250,000
ARZXZE ME2Z 202,000 267,000 A 65,000
= 61,000
& 30,500
Al 110,500
307 GI12t0l & 202,000 267,000 265,000
= 61,000
< 30,500
Al 110,500
02 2ItBAE X 202,000 267,000 265,000
OAEZ=ZY A 80,000,000& 80,000
OArZ= M2Q 2 29 X2 (120%)
61,000,000& *23l 122,000
= 61,000
< 30,500
Al 30,500
X A AL 71,400 71,400 0
Il 35,700
Al 35,700
301 Let2as 71,400 71,400 0
Il 35,700
Al 35,700
01 AIsIEE " =0l= 71,400 71,400 0
OAZXHIRH AlZAIS (119Y)
60,000& x119E <102 71,400
Il 35,700
Al 35,700
HEALES 3,851,000 2,713,600 1,137,400
SRS HE (2 Z g 3,300,000 0 3,300,000
401 Al&HI LS04I 3,300,000 0 3,300,000
01 Al&H| 3,242,250 0 3,242,250
OoU=dus2 3,242,250,000&3 * 14| 3,242,250
02 2feldl 48,840 0 48,840
ot=dd=s2 Zeltl
3,300,000, 000 *1.48% 48,840
03 Al =204l 8,910 0 8,910




AT E LD
HSxs
NS (et &
N EH - S2A(3H) - MRAE - BES &hoh 2 S0l &K Hws2
SEEENEREEIFETT
3,300,000, 00024 +0. 27% 8,910
HIHSA &SI 50,000 60,000 210,000
401 Al&HIL 20| 50,000 60,000 10,000
01 Al&t| 50,000 60,000 210,000
OSUMSAES Yl 5,000,0002%107H 2 50,000
TIRHATEZ20ILME 21 501,000 1,800,000 1,299,000
401 Al&HIL 20| 501,000 1,800,000 1,299,000
01 Al&t| 487,950 1,800,000 A1,312,080
OSERRALEZ240|YHE 2
487,950,000% 487,950
02 22!l 9,450 0 9,450
OSERRAT=22H0|YHE A8 Zalbl
500,000, 0002 * 1.89% 9,450
03 Al& = CH| 3,600 0 3,600
OSEIRAZEZH0IYHE A A2
500,000, 0002 0. 72% 3,600
NEeSesy 3,177,305 3,293,549 A 116,244
solgey 896,507 901,970 A5,463
201 LBty 18,800 23,680 A4,880
01 At el 4,800 7,480 A2,680
Osr4gY| 4,800
—59lE Hama 28 7Y U B2
150,002 * 122 1,800
—E£52 ZeH3tS M 50,0009 #4225 400
—59lE 24253 AduE
52,000, 0002 *5% 2,600
02 IT2YH| 14,000 16,200 A2,200
02222 2 AA 6,000
—5I91E SABRAHI(HI] 25 .01A)
500,000% * 122 6,000
ORI 6,000
—S5, FUl, 28, WAl 500,000 128 6,000
OANEFY Xl 2,000
—GPIIE &4 BA L KX 2AHI(MAL, &
23 5) 1,000, 00021 23] 2,000
301 LB AI 877,707 878,290 ~583
1 HsHe - 252S2a3 877,707 878,290 583
ONEX 76,890
—2=(53 552)  2,842,8008 51128 34,114
—3X(62 125%) 1,912,008 12128 22,944




S ALE A
Y HSANE
ool NESSRSY (Etel: &8
SA-EFH - SA(SAH) - MREAY - BES Off &F K 2 S0l &K Hws2
— 2|0/ (62 85 2)
1,652,600 %12+ 122 19,832
O+ 313,153
—-72(1552) 1,862,700 %124+ 122 22,353
—-72(1452) 1,816,0002 12 » 122 21,792
—-72(1358 %) 1,766,9002 12 » 122 21,203
-72(118%) 1,661,6009! 522 x 122 39,879
-72(1052) 1,605,0002! 12122 19,260
-72(952) 1,545,2009! %124+ 122 18,543
-72(7582) 1,417 40091 %22+ 122 34,018
-72(632) 1,352,3002 12 » 122 16,228
-73(552) 1,287,9002 x3% * 122 46,365
-721452) 1,225,2009 x5 * 122 73,512
O=g 247,487
—JbH X2 bl 32,504, 0008 200% 65,008
— Y St 32,504,0002 *120% 39,005
—H2%Y 20,234,000 20,234
—F2oHME 8,280,00024 8,280
—Jts4y 70,0002 42 » 122 3,360
XS X+ 6,000
2= 200,0002 12 128 2,400
by 150,000 *224 122 3,600
—2E4y 200,0008! *21% * 122 50,400
— Rz el 200,0002 +212 « 122 50,400
—2IUHESY 10,0002 x4 128 4,800
Ouser2g] 300,0002 +212 122 75,600
OIS ISEXSE] 200,0002 212 63| 25,200
OXX = el 57,0002 %212 %202 23,940
OF=HRANIEAZ 5000002 212 10,500
Ou4el=Z 5,000, 000! 32 5,000
OFZMHsI e WERX 3]0 Z4 0|
120, 0008 22 %63 1,440
OstaIg eis| 30,0002 #2124 +23] 1,260
Osd ==l 2 18,000
—5t31Z 9 175 P 18,000,0008 14! 18,000
ogsz 69,237
—doleEE 300,000% 21 6,300
—4ny 2 629,363, 0002 *10% 62,937
syEey 350, 110 368,887 ~18,777
201 Y2y 15,550 14,544 1,006
01 At2z2l| 3,750 1,584 2,166
Ot 3,750




SA: ALEAQ
ol JSNE
ool AE2ERSY (649l &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K 2 S0l &K Hws2
—SME M4 24 22 7Y U 2
1,500,00021 * 14! 1,500
—E% B35S R 50,0002 %204 £ #33] 300
—HAYUEES AME 39,000,009 5% 1,950
02 BB 11,800 12,960 A 1,160
OZBZ22 2 HA 6,000
—SHE =4 BRAU(FI, 25, IA)
500,0002! 122 6,000
OAN&ZY STl 1,000
—SME 52 HY L RN 2AH(MAl, B
g 5) 1,000,0002! *13] 1,000
ORI (RF, Ful, 28 MA)
400,000%! <122 4,800
301 YA 334,560 354,343 £19,783
11 olzHe - 2SSz 334,560 354,343 £19,783
OX & Xt 49,948
—2S(52 1488) 2,373,300 *1Y«12 28,480
—2X(62 1082) 1,789,008 *1«128 21,468
Ot 109,736
—73(1258) 1,715,60021 12 * 122 20,588
~73(952) 1,545,2002! * 1% * 122 18,543
—72(452) 1,205,200 %1% +122 14,703
-73(352) 1,164,6002 x2 % * 122 27,951
-73(352) 1,164,60021 x2% * 122 27,951
O+g 83,057
— b X 2| 10,978, 0002 *200% 21,956
— YR 10,978, 0002 * 120% 13,174
—B24¢ 6,607,0002! * 14! 6,607
- =Pl 2,520,00021 * 14! 2,520
—tmay 100, 000! *3%4 122 3,600
~ X ERag 4,200
s 200,0002 12+ 122 2,400
&by 150,00091 * 1 * 122 1,800
—Ep4g 200,0002 x7% * 128 16,800
—2YESY 10,0002 +2% * 1224 2,400
. L 200,0002 +7 %+ 122 16,800
Ou4cr2g| 200,000% +7% * 122 16,800
O3 &&=l 50,0008 *7% +52 B3] 14,000
OF X &l 50,0008 %73 +302 10,500
OF2EI0E TAS 450,002 7% +23] 6,300
LRS- 5,000,0002! * 1% 5,000
OXZHal 231 HEX 519 &4 01|
120,000 %22 *6.3| 1,440
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SHT AmEARL
HE: HSUE
o9l NEPESRRY (S5 &2)
SN EB -GS - MBAY - BES 0 & 24 2| 25 04] & o HRE2
SEXEIEEE 30, 00021 #52 x23] 300
Ol 4+FHI 7Y 7,000
—E2014= 2165 7,000,00021 *14} 7,000
og#2 23,479
e CEL- 300,000 +7% 2,100
— 42 213,785, 0002 * 10% 21,379
OHBHAIHS XY 215lHl  2,000,000213] 2,000
E7g2y 1,930,688 2,019,692 89,004
201 Yer2 Yyl 102,200 113,664 ~11,464
01 A2l 53,400 53,456 A56
O=7E EWA YUE  50,000,0008 1A 50,000
ONEZEX SRS 2 1,000,008 14! 1,000
OARa 29 200,000% 122 2,400
03 A2 | 48,800 60,208 A11,408
SEEPIEL" 48,800
==L 1,500, 00021 *17H+22 )| 3,000
— & 20H(0H) 300, 00024 #47H* 142 7| 16,800
— B a0H(4) 10,0002 *82H*142 7| 11,200
—E2RY 2,5002! %2, 0002 5,000
—EHYs 2,500, 00021 #42 J| 10,000
—TS(RIRH, A 2B AR)
200, 0009 * 142 | 2,800
202 01t 4,200 2,819 1,381
01 =2Uioibl 4,200 2,819 1,381
OUEIEX oz ZLH 29 01|
150,0002 x283 143] 4,200
01 LB AZ 1,824,268 1,908,209 ~78,921
10 BAHAEI B4 S 8,260 7,392 868
OZZJ| TR I20H|  500,0008 14 7| 7,000
OMEEZ 2HAlH| 3,00021 +302) 143 1,260
1 HeHe - 2E52S2A3 1,816,028 1,895,817 ~79,789
OXNEX 154,000
—2= 50,000, 0002 * 12 50,000
— 3% 40,000, 0002 12 40,000
=L IE 40,000, 0002 123 40,000
—o/23ax 24,000,000 1% 24,000
ou= 800,000
—AZ 40,000, 0002 +4% 160,000
—82 30,000, 00024 *10% 300,000
—c2 24,000, 0002 *10% 240,000
-02 18,000, 0002 *4% 72,000
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SH: ATEMAT
HE: HSUE
o9l NEPESRRY
SN B SRA(SIH) - MBAY - BAS Abod £/ 25 0f o o
—E2 14,000,0002! 2% 28,000
ORI 300,0002 128 3,600
Ozelag 5,800,0002 152 J| 87,000
OUsl Z 43 1,000, 00021 34214 CH 5] 34,000
o=#z 105,600
L =L 300,000 *34% 10,200
—4e 954,000, 00021 * 10% 95,400
GEFPYL-1-] 840, 0002 *2802! 50% 117,600
O&l4 SZHI(AHI)  6,0002 34! x2802 «34 171,360
Otsl &Y 120, 156
—UWAEelD 28y
57,0002 x34% %32 #1423 )| 81,396
—FAICHE EEY) 57,0002 %342+ 102 19,380
—AYHAH MRYE B
57,0002 %342 * 102 9,380
OFXIZ &bl 57,0002 342 x302 58, 140
Q%53 954,000,000%*1/12 79,500
OFIHEI 2 HEX 812 AA0HY)
120, 0002 %22 +83| 1,920
O£7g oiasl 30,0002 34 x23] 2,040
OH%FYI 7Y 51,112
—EREE 31,112,000%14! 31,112
—o28E 20,000,000+ 14! 20,000
OBt =A=701% Q150 30,000,000 14! 30,000
SZIHETUE 2 300,000
SEIHETHE SN 300,000
306 £013 300,000
01 2013 300,000
OSTIHERMEH HATFSE
00,000,000 %14} 300,000
B2 AY| (AL X AT 49,232
ol 2 ofH| (AT XA T) 3,000
Ol 2 ot (AT = A T) 3,000 0
203 Y= 3,000 0
04 ENRYAREAY| 3,000 0
OAZE AT 250,0002 *122 3,000
AL (AE XA 46,232
AL (AEZ AT 46,232
201 Yer2 Y| 21,272
01 AtE22|HI 21,272
LIRS =1 12,200
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